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(i)  All questions in both the sections are compulsory,

(i)  Marks for questions are indicated against each.

(i)  Questions Nol and 13 are very short-answer questions carryihgnark for
each part. They are required to be answered in one sentence each.

(iv) Questions N&-5and14-17are short-answer questions carryi@gnarks each.
Answers to them should normally not excé@avords each.

(v) Questions N&b-9and18 -21are also short-answer questions carryéhgarks
each. Answers to them should normally not ex@@aslords each.
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(vi) Questions Nol10-12 and22-24 are long-answer questions carryigmarks
each. Answers to them should normally not exd@edvords each.

(vii) Answers should be brief and to the point and the above word limits should be
adhered to as far as possible.

(viii) All parts of a question should be answered at one place.
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Section A
qgus

1. Answer the following questions :
()  Why does an economic problem arise ?
(i) Define opportunity cost.
(i)  What does a rightward shift of production possibility curve indicate ?

(iv) Define microeconomics. 1x4
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ffafad 9l & S Qg

() onfde FgEm F S e ' O?

() SR @rE @ gRwr R

(i) ST TUE g HF @l AR REgEE FT AT B?
(v) =fte srfemer & aRamr T |

2. Explain the effect of increase in income of the consumer on the demand for a
good. 3

SUHIRTT bl AT H glE & a&] bl WU W YWT B ARAT I |

3. State three causes of increase in supply. 3

gfd ¥ gfg & T BRI AT

4. Explain the relation between marginal cost and average cost. 3

g @rd SR S| AN & 9 §9Y §HEs’ |

5. Explain producer’s equilibrium with the help of a diagram. 3

Uk @I B Rl § IAEE b GJad dl AT Hifg |

For Blind Candidates only in lieu of Q. No. 5
Faa gRed qdenRiat & fg uew dem 5% wH W

Explain the meaning and conditions of producer’s equilibrium.

Uk IAEEH b qgad b1 Fd AN IFR g qHIEY |
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6. A consumer buys 40 units of a good at a price of Rs. 3 per unit. When price
rises to Rs. 4 per unit he buys 30 units. Calculate price elasticity of demand
by the total expenditure method. 4
OR
A consumer buys 80 units of a good at a price of Rs. 5 per unit. Suppose price
elasticity of demand is (-)2. At what price will he buy 64 units ?

UF IUNEKT UH A B 3 5. UG ITHE W 40 ITHEAT @IS B A qEK Bl
HET ¢ H 4 T UG THE & AW § oAl g8 30 IHEA @dEdl £ HA
s g/ AT & HEMd dd B IReAd Hitid |

T

UF SN 5 B, U SEE W UH a&] i 80 IHEAT @WIEAT &1 "M WY
fF A & Fma @ (D231 fFE FHT W I 64 TEEAr @lem?

7. Give meaning of:
()  production function
(i) Supply
(i) revenue, and
(iv) cost 4

() ST ®ad

(i) i

(iii) Huta, iR
(v)

% g TR

8. Calculate ‘total variable cost’ and ‘total cost’ from the following cost schedule

of a firm whose fixed costs are Rs. 10. 4
Output (units) : 1 2 3 4
Marginal cost (Rs.) : 6 5 4 6
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I (IHTAN) - 1 2 3 4

g ara (%) ¢ 6 5 4 6

9.  Atagiven price there is excess demand for a good. Explain how the equilibrium
price will be reached. Use diagram. 4

UF IE] B A BE HET W A AN & | HIAT A by €U entl, F9EEy |
W@ A TR I |

For Blind Candidates only in lieu of Q. No. 9
Faa gRed TRt & fg g dem 9% W W

What is meant by ‘excess demand’ for a good ? Explain the changes which
will bring about equilibrium price.

Uk qE] B AR W " T AYE 87 S URddHl @l Srer &I S
R § Hdad ®Hd e Rafd @

10. Distinguish between :
(@) Individual demand and market demand.
(b) ‘Change in demand’ and ‘change in quantity demanded’ 6
ffaied & 93 Fif:
(@) =fRFE A R IER AT
(b) @i ¥ uRadT SR ‘Wi @ "Er § qRad

11. State the phases of the law of variable proportions in terms of total physical
product. Use diagram. 6
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12.
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For Blind Candidates only in lieu of Q. No. 11
Faa giedq qdenifal & oo o d'nm 113 ®&|

State the phases of the law of variable proportions in terms of total physical
product and marginal physical product.

FA Hifde SR R dWa difde SR IM b & H IRIaE STl & e
% = =T gy

Explain the following features of perfect competition : 6
() Large number of buyers and sellers
(i) Homogeneous products
OR
Explain the following :
() ‘Free entry and exit’ feature of perfect competition,

(i) ‘Differentiated products’ feature of monopolistic competition.

f gfq@ifar @ Frefated fagua a9y
(i) charsti SR faskaretl @0 99t g
(i) THET IAIE

Jrgar
frefafad @ e Hivg
(i) uof ufcifrar @ g gag ok fem O
(i) umigprrs gfadifar &t S fadae  faemd |



Section B
gus §

13. Answer the following questions : 1x4
(i) Define macroeconomics.
(i) Give two examples of macroeconomic studies.
(i) What does balance of payments account of a country record ?

(iv) Name the items included in balance of trade account.

ffaiea g9 & ST QT

(i) wmfte oredomex @ uftwmor fomo

(i) wafe onffes oregeei & & T AE

(i) e U & YN dgad @ § F1 o fRar S g?
(iv) =R 99 @ § onfed & 99 am wel b AW ads’ |

14. Calculate ‘private income’ from the following data :
(Rs. crores)

() National debt interest 30

(i) Gross national product at market price 400

(iii) Current transfers from government 20

(iv) Netindirect taxes 40

(v) Net current transfers from the rest of the world (-) 10

(vi) Net domestic product at factor cost accruing to government 50
(vii) Consumption of fixed capital 70 3
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=i arihel & ‘TSIt oM@ @1 UReha &iT:

(®T3 %)
(i) T =T W A= 30
(i) 9N @ W Fhd LT IAQ 400
(i) THR ¥ YR e 20
(iv) Faa swce @< 40
(v) 99 faea § e 4R &R (-) 10
(Vi) TR & 9 #R& ara W HEad s Sare 50
(vii) s (Rer) oot &1 Sraerd (JUHRT) 70

15. A Rs. 200 crore increase in investment leads to a rise in national income by
Rs. 1000 crores. Find out marginal propensity to consume. 3

Fasr & 200 FZ 5. W G T TS AT H 1000 HUS . B Jhg el B |
qHid IUHN Ygia S I |

16. Give meanings of : 3
() involuntary unemployment
(i)  full employment, and
(ii) under employment equilibrium
(i) oife® ReEmh
(i) of IR, @&
(ili) oot T e
% o qARy|

17. Give three sources each of demand and supply of foreign exchange. 3

Rl & @ A SR qfd & de-dE J| oy |
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18. Give meaning of money. Explain the ‘store of value’ function of money.
OR

What is ‘barter’? Explain ‘standard of deferred payment’ function of
money.

9T B A qART| GET W A §9d B GEEEU |
Jrgar
TG T G B WO WA FOAE FE A

19. Explain the’acceptance of deposits'function of commercial banks. 4
T dbi BT ST THR HE HT HE T |

20. Distinguish between ‘revenue receipt’ and ‘capital receipt’ and give two
examples of each. 4

e g’ SR gSiid g’ @ @ 9 &It R Id® @ qI-al IEeXl
s

21. What is ‘fiscal deficit’ ? What are its implications ? 4
AABEF-AERT FT el &7 Th FT I9F Bl o7

22. Calculate national income and gross national disposable income from the
following data:
(Rs. crores)

(i)  Current transfers by government 15

(i)  Private final consumption expenditure 400
(ii) Net current transfers from the rest of the world 20
(iv) Government final consumption expenditure 100
(v) Net factor income from abroad (-) 10
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(vi) Net domestic capital formation 80

(vii) Consumption of fixed capital 50
(viii) Net exports 40
(ix) Netindirect taxes 60 4+2

ffafag oriesl ¥ T 3 IR 9%hd TS JANT ST &l GReAT HifoT:

(®5 %)
() &R ZW PR e 15
(i) Pl sifaw swde =@ 400
(i) S fwm & Ui RO 20
(iv) @@l sifow soumm = 100
(v) fodstt & ™o@ &R& & (-) 10
(vi) TE@ It gt ffor 80
(vii) =@ (Rer) ool &1 S@er  (IT4) 50
(viii) fra@ Faf 40
(ix) o suae @ 60

23. Explain the production method of estimating national income. 6

OR

Explain the income method of estimating national income.

T T JU & IR (AT GHeEs |
JrEar
TS AT A &l g fafer qaemEy |
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24. Explain the problem of ‘excess demand’ in an economy with the dfedp
diagram. Explain the role of bank rate in cprrecting it. 6

WS & GeRdr ¥ e ¥ wi onfe w §HE dl ATl S |
TH IE B W AR W A R GEEY |

For Blind Candidates only in lieu of Q. No. 24
Faq ged qdemiial & foo g den 24 % wH W

Explain the meaning of’'excess demand’ and ‘deficient demand’ in an economy.
Explain therole of bank rate in correcting excess demand.

ST B WA SRR IR W & ST & o GHSsU | "I S ik
A W dE® W B qEET FHET |
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